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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions. All questions are compulsory.
(it) This question paper is divided into FIVE Sections — A, B, C, D and E.
(iit) In Section—-A questions number 1 to 18 are Multiple Choice Questions

(MCQs) and question number 19 and 20 are Assertion-Reason based

questions of 1 mark each.

(iv) In Section—-B questions number 21 to 25 are Very Short Answer (VSA)

type questions, carrying 2 marks each.

(v) In Section-C questions number 26 to 31 are Short Answer (SA) type

questions, carrying 3 marks each.

(vi) In Section—D questions number 32 to 35 are Long Answer (LA) type

questions, carrying 5 marks each.

(vii) In Section—E question number 36 to 38 are Case Study based questions
carrying 4 marks each. Internal choice is provided in 2 marks questions

in each case-study.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section-B, 2 questions in Section—C, 2 questions in

Section—D and 3 question in Section—E.
. . . 22 .
(ix) Draw neat diagrams wherever required. Take 7= = ra wherever required,

if not stated.

(x) Use of calculator is NOT allowed.
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g - 20x1=20

THEEH 20 T AT TAS A H1 1 3H ¢ |

1. THE 9E (AP —29, —26, —23, ....., 61 HIHHATIS 167 ? 1
(A) 11af (B) 16dt
(C) 10a (D) 31af

2. TS 3MeRfd H PT g O 9Tt I shi Teh TR-@T & | a1 PQ I o whg W 65° i

I ARG B 2 | LQPT R AT B 1
(A) 65° (B) 57.5°
(C) 67.5° (D) 32.5°

3. & 7E 3l H, Sy O I1et g9 W g P & WER dedd T¥-1@nd PA 37 PB @i 1§

%IZI'%PA=5cm%,?ﬁABTﬁFFﬂ'§%: 1
(A) 5cm (B) 5\/5 cm
© 2\/g cm (D) 10cm
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SECTION - A 20x1=20

This section consists of 20 questions of 1 mark each.

1.  Which term of the A.P. —29, —26, -23, ....., 611s 16 ? 1
(A) 11th (B) 1e6th
(C) 10th (D) 31st

2. In the given figure, PT is tangent to a circle with centre O. Chord PQ

subtends an angle of 65° at the centre. The measure of ZQPT is : 1
(A) 65° (B) 57.5°
(C) 67.5° (D) 32.5°

3. In the given figure, tangents PA and PB to the circle centred at O, from
point P are perpendicular to each other. If PA = 5 cm, then length of AB is

equal to 1
(A) 5cm (B) 52 cm
(€) 2y/5cm (D) 10 cm
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4. AB AU CD U g i @ SaTd & ST P TR ufa=ee ! & | 70 3 8 98l e[ g :

(A) AADP ~ ACBA (B) AADP ~ ABPC
(C) AADP ~ ABCP (D) AADP ~ ACBP

5. Il fonegl 3TTenel o Tceh J&T0T b1 HF 2 § ST {31 T, I AT 3Tehal ol AT
(A) 2 ¥ I | (B) 2n ¥ g I |
(C) @ Tm | (D) 2 ¥ A Bl ST |

6. IC o TAT P TGIG 262 — 9x + 5B YIh &, A o2 + BZHI A & :

@ 7 ® o
© 1 o

4

7. b WM & SIC, HEATUehT U HaT o IATeehdd S=1 gRI ATedieh ST =Tad! & | 39
T hAT & ATHThT bl

(A) WIS (B) gt
(C) "I (D) ufER

8. k o 98 "M formes forw oot i Sx —y + 8 =0 duM6x —ky + 16 =0 &
SR &9 8 S EA &, B

A) -2 B) 2

© 3 ® -3
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AB and CD are two chords of a circle intersecting at P. Choose the correct
statement from the following :

(A) AADP ~ACBA (B) AADP ~ABPC
(C) AADP ~ABCP (D) AADP ~ACBP

If value of each observation in a data is increased by 2, then median of the

new data
(A) increases by 2 (B) increases by 2n
(C) remains same (D) decreases by 2

If a. and B are zeroes of the polynomial 2x% — 9x + 5, then value of a2 + B2 is

@ 5 ® &
© 1 o 5

After an examination, a teacher wants to know the marks obtained by
Maximum number of the students in her class. She requires to calculate

of marks.
(A) median (B) mode
(C) mean (D) range

The value of k for which the system of equations 3x —y + 8 = 0 and
6x — ky + 16 = 0 has infinitely many solutions, is
A) -2 B) 2

© 3 ® -3
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10.

11.

12.

13.

fag P, feigatl A(4, —5) 71 B(1, 2) %! T 9Tt {@Mave 1 5:2 o 3FAT H Siedl 2 |
foig P facames 2 :

5 -3 11
13 13
©) (7,oj ) (o,7j

T 99 H HIS & o T 6 § 55 Tk hl TE 3ifhd & | T98 H § Agoadl Th HIe
TehTe T 39 W 3ifehd H&HT o Teh qUT a1 F&AT BIH ohi TTTIehdT & :

7 7
@A) 7o B 55
1 5
© 7o D) 79

I sin 0 =cos 0, (0°<0<90°) %, d (sec O -sin O) HITAFZ :

) ﬁ ®) 2

€ 1 D) 0

2 9T Ush 91 IDTA U | SHT I1E1 91 TS G <61 A0 10 § 31ftres 319 <h) ifdresan
2

@ 3 ®

© 15 ®) 75

k 1 a8 A o Tt x = 2 ofieptor 5a2 — 4x + (2 + k) = O FIUH AR, B :
A) 10 (B) -10
€ 14 D) -14
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10.

11.

12.

13.
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Point P divides the line segment joining the points A(4, —5) and B(1, 2) in

the ratio 5:2. Co-ordinates of point P are

5 -3 11
13 13

A box contains cards numbered 6 to 55. A card is drawn at random from
the box. The probability that the drawn card has a number which is a

perfect square, 1s

7 7
@ 30 ® 35
1 5
© 1 ®) 3

If sin 6 = cos 0, (0° < 0 < 90°), then value of (sec 0 - sin 0) 1is :

(A) ﬁ (B) /2

€ 1 D) 0

Two dice are rolled together. The probability of getting the sum of the two
numbers to be more than 10, 1s

@ 3 ®
© 15 ®) <5

Value of k for which x = 2 is a solution of the equation 5x2 — 4x + (2 + k) = 0,
is

(A) 10 (B) -10

(C) 14 (D) -14



14.

15.

16.

17.

18.

T THEY PySi ABC 991 PQR o UiTY 5A91: 56 cm 9T 48 cm & | PQ/AB STsR

2 1
@ o ® -

© ¢ o -

TUH 200 TR TEATHI 1 ARTHA @ : 1
(A) 2010 (B) 2000

(C) 20100 (D) 21000

Ife HCF (2520, 6600) = 40 3T LCM (2520, 6600) = 252 x k8, ATk HTAF 2 : 1

(A) 1650 (B) 1600
(C) 165 D) 1625

@ T 3TRId § AABC fe@mn w1 g 3R DE || BC 8, /¢ AD = 5 cm, DB = 2.5 cm

T BC=12cm &, d DE SO & : 1
(A) 10 cm (B) 6cm
(C) 8cm D) 7.5cm

XOYZ T 37 & fes 3T X(=3, 0), 0(0, 0), Y(0, 4) T Z(x, y) & | 35 T

ferepol 1 TS & - 1
A) 5 FHE (B) /53T
(C) 22+ y2THE D) 43T
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14. The perimeters of two similar triangles ABC and PQR are 56 ¢cm and

48 cm respectively. PQ/AB is equal to 1
i 6

») 3 ®) -
i 8

© g O -

15. The sum of first 200 natural numbers 1s 1
(A) 2010 (B) 2000
(C) 20100 (D) 21000

16. If the HCF (2520, 6600) = 40 and LCM (2520, 6600) = 252 x k, then the

value of k 1s 1
(A) 1650 (B) 1600
(C) 165 (D) 1625

17. In the given figure AABC is shown. DE is parallel to BC. If AD = 5 cm,

DB =2.5 cm and BC = 12 cm, then DE is equal to 1
(A) 10cm (B) 6cm
(C) 8cm (D) 7.5cm

18. XOYZ is a rectangle with vertices X(-3, 0), O(0, 0), Y(0, 4) and Z(x, y). The

length of its each diagonal is 1
(A) 5 units B) /5 units
(C) 2+ y? units (D) 4 units
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FIéw : wea 19 G 20 § T T T Th FAMHAA (A)  91¢ T q%h HAT (R) fean 2 |
e 0 3 w@t foepew g
(A) T I0HT (A) 9UT T B (R) T @ | doh v (R), 311heH (A) i e

HIE |

(B) <M 31epeA (A) U1 9 $oH (R) T @ | doh 2 (R), 311heH (A) i s
T HATR |

(C) AR (A) T & g @b H2H (R) 3 7 |

(D) ARTHYT (A) 31 e dh HF (R) T 2 |

19. SRR (A) : 10 cm ST AT € 41 Sl foFAR feTreht W@ & & 931 519 <61 |qUf
95T &%a 1200 cm? § |

T 2 (R) : =1, TEehl Y11 10 cm B, o T Beteh ol &%et 100 cm? ? |

20. 3P (A) : Ife sinA:%(O" < A <90°) %, dlcos Awm%@% |
Teh BT (R) : T 1071 0 & TTT sin2 0 + cos2 0 = 1.

Qs -9

FEEREHSTFE AN TR b 2 3 § |
21. € TE 3BT H, AB @41 CD, g O =Tt o %1 &1 e @i & | =1 /BAC = ZDCA ?
I I AT gfy hifsr |
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Directions : In Question 19 and 20, Assertion (A) and Reason (R) are
given. Select the correct option from the following :

(A) Both Assertion (A) and Reason (R) are true. Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true. Reason (R) does not give

correct explanation of (A).
(C) Assertion (A) is true but Reason (R) is not true.

(D) Assertion (A) is not true but Reason (R) is true.

19. Assertion (A): Two cubes each of edge length 10 cm are joined together.

The total surface area of newly formed cuboid is 1200 cm?.
Reason (R) : Area of each surface of a cube of side 10 cm is 100 cm?. 1

22
3

1
20. Assertion (A) : If sin A= 3 (0° < A <90°), then the value of cos A 1s

Reason (R) : For every angle 0, sin20 + cos2 60 = 1. 1

SECTION - B
In this section, there are 5 questions of 2 marks each.

21. In the given figure, AB and CD are tangents to a circle centred at O. Is
ZBAC = ZDCA ? Justify your answer. 2
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22.

23.

24.

25.

26.

(a) Teig3Ti (3, —5) AT (—1, 6) I THATH TN TWHETE W@ y = x GRI fohH AT H
fawfsa g g 2

YT

(b) A3, 0), B(6, 4) a1 C(-1, 3) T AABC = 3fi¥ g | Tiferst BE i &faTs 3ma
SHifST |

AT HINT TR 7x 11X 13+ 133M T X6 Xx5Xx4 X 3% 2% 1+ 5 VT G&AT
2 |

Ife wh AABC & 39 A(=2, 4), B(4, 3) @1 C(1, —6) &, a1 @It BD i w&Ts 3Td
Hifsr |

(a) 2 sin? 30° sec 60° + tan? 60° T HH AT SHITT |
Jar

(b) AfE 2 sin (A + B) =+/3 @ cos (A — B) = 1 8, a1 10 A a1 B i H19 1
HINT, 0 < A, B, (A + B) <90°.

qUE - T
TGS T 6 79 & aUT Teh & 3 3 ¢ |

(a) & TS APl H, shg O el I hI TH TH-t@T PQ & €1 LBAQ = 30° &, I
@itse f BP = BQ |
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22.

23.

24.

25.

26.
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(a) In what ratio is the line segment joining the points (3, —5) and (-1, 6)
divided by the liney =x ?

OR

(b) A(3, 0), B(6, 4) and C(-1, 3) are vertices of a triangle ABC. Find
length of its median BE.

Explain why 7 X 11 X 13+ 13 and 7 X 6 X 5 X 4 X 3 X 2 X 1+ 5 are

composite numbers.

The vertices of a AABC are A(-2, 4), B(4, 3) and C(1, —6). Find length of
the median BD.

(a) Evaluate : 2 sin? 30° sec 60° + tan? 60°.
OR

(b) If 2 sin (A + B) =\/§ and cos (A — B) = 1, then find the measures of
angles A and B. 0 <A, B, (A + B) <90°.

SECTION - C

This section consists of 6 questions of 3 marks each.

(a) In the given figure, PQ is tangent to a circle centred at O and
ZBAQ = 30°; show that BP = BQ.

OR



(b) @ TS IR H, AB, BC, CD &1 DA %3 O I I hl T-@ME § A1 Th
Tq4st ABCD ATt & | gIise foh

ZAOB + ZCOD = 180°

27. Tk gl ¥ 100 ferenfiai o 50 9 uH 37 A= feu mu g

ITHT : 0—-10 | 10-20 | 20—-30 | 30—-40 | 40-50
Terenfolat < e 12 23 34 25 6
TeremfRi gry wTH 3TeR! ST HTET T4 ST |

28. < SHATTA qUTih T8 YR o & foh GEX qUTIeh o a1 ol 31 QI o T[IHHA H A8+ W 161
ITH 21T & | A qUITeh AT I |

29. (a) 3Ife U GHTR I (A.P.) & T m US T ANTHA $Hh J&H n 9&i (m # n) &
e o THM 8, T GTST o6 0 Y2 (m + n) UEH 1 AMTHSA 3 8 |

I UE]

(b) Tk AR G o I THHATTA U] h1 INTHS 24 & TAT 3Tk 71 T AMTHA 194 7 |
T T I |

30. foag Hfu fop /5 T st s@m & |

31. fag<hifiu: sin0+ cos®0 =1 — 3 sin2 0 cos? 0.
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(b) In the given figure, AB, BC, CD and DA are tangents to the circle
with centre O forming a quadrilateral ABCD. 3

Show that ZAOB + ZCOD = 180°

27. In a test, the marks obtained by 100 students (out of 50) are given below : 3
Marks obtained : 0-10 | 10—-20 | 20—-30 | 30—-40 | 40-50
Number of students : 12 23 34 25 6

Find the mean marks of the students.

28. Three consecutive integers are such that sum of the square of second and
product of other two is 161. Find the three integers. 3

29. (a) If the sum of first m terms of an A.P. is same as sum of its first n
terms (m # n), then show that the sum of its first (m + n) terms is zero. 3

OR
(b) In an A.P., the sum of three consecutive terms is 24 and the sum of
their squares is 194. Find the numbers. 3
30. Prove that \/g 1s an irrational number. 3
31. Prove that sin®0 + cos®0 =1 — 3 sin? 0 cos? 6. 3
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gis -4

TAEUS T 4 T & | T Ie 5 FhI h1 8 |
32. W W o ©h fog A § TR H 3T @ Th AIGAM 1 I3 S 60° 7 | 30 H. hl

ISM o YT T I~15 HI0T 30° B Sl & Sfeiieh sgaH Teh Ffivea =18 350003 m
TR THEHH Tt 8 3§ T ] | AP hl =7 1 I |

33. Ife Ush 3T hl @O 5 cm T < AT qAT TS 2 cm T & ST AT I hT &ABA
80 cm?2 %A B JTdT & | Ife @18 10 cm FT <1 ST a7 =SS 5 cm HeT <1 ST a1 3R
&1 8T 50 cm?2 §¢ AT | 3T shl TaITs 9T SIS T ShIfT |

34. (a) 3oE fafy grr fe aefiestor Feem o1 g1 a <hifTe
SBx+y+4=0qAM3x—y+2=0

AYAT

(b) ORI 3 Tk THET T 40 37 ITH fohU Safeh Tcdeh T&l 3T & 3 37 it 9o s

TTAd IALHT 1 3Tk el AT | Afe Tk Fal I o 4 37k el a7 Tcdeh Teld I
% 2 30 e, A1 IH 50 Iieh firelll | I HHd gY o 3o @l oot & s fen &,
ST T <hl HEAT AT I |

35. (a) e FRET BIYS o1 Teh YT o HHIGK 311 &1 STT3A1 sl fr=1- Tt feigati w wfd=eg
T % 10 T T ©i=h S, o firg FIRT 6 3 31 g1 o u & e |
forafora &1 ST 2 |

AT
(b) TS Y ABC i Yot AB 3R AC @1 AIfershl AD U 31 Bigsl PQR &
13l PQ 3R PR a1 AIfereht PM @ shH9T: OTET 8 | g9se f6 AABC ~

APQR |
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SECTION -D

This section consists of 4 questions of 5 marks each.

32. The angle of elevation of an aircraft from a point A on the ground is 60°.
After a flight of 30 seconds, the angle of elevation changes to 30°. The
aircraft is flying at a constant height of 3500\/§ m at a uniform speed.
Find the speed of the aircraft. 5

33. If the length of a rectangle is reduced by 5 cm and its breadth is increased
by 2 cm, then the area of the rectangle is reduced by 80 cm?2. However, if
we increase the length by 10 cm and decrease the breadth by 5 cm, its
area is increased by 50 cm?2. Find the length and breadth of the rectangle. 5

34. (a) Using graphical method, solve the following system of equations : 5
3x+y+4=0and3x—-y+2=0
OR
(b) Tara scored 40 marks in a test, getting 3 marks for each right

answer and losing 1 mark for each wrong answer. Had 4 marks been
awarded for each correct answer and 2 marks been deducted for each
wrong answer, then Tara would have scored 50 marks. Assuming
that Tara attempted all questions, find the total number of questions
in the test. 3

35. (a) If a line is drawn parallel to one side of a triangle to intersect the
other two sides in distinct points, then prove that the other two sides
are divided in the same ratio. 5

OR

(b) Sides AB and AC and median AD to AABC are respectively
proportional to sides PQ and PR and median PM of another triangle
PQR. Show that AABC ~ APQR. 5
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30 TS H 3 TohUUT HATHTRA T3 & i b 6 4 376 § |

36. ‘ThY’ Ieg YWId: Tehdl (JT) o THH & & | Th §¢ TMelThR &3 H A hivd IR 93]
yfyreror e fafi= TaRe Srishn i o am wa R ST & |
Teh TohH 1 02 8 m hl TS doh SRR & dUT $Heh HUL IFaThR & | U 1 A
28 m & 7UT 3¢ 1 el S8 18.5 m B |

U o SR IR =T I91 o 3T Gifore

() YFEThR 9T < fadies g 1d hifs |

(i) <2 P B BT FABA T HIWT |

(iil) (a) 32 oM T YA BN ol SIS T &Fh T ShifoTT |
JAYAT

(iii) (b) 39 Wel &2 T g1 1 P A FTd ShIfTT |

37. gfeAi o T o T a0 § 120 AR & 1ot el gigai & w=mt fohu 1w ames & TR
o SR T YT T | e urE = 39 | o i ST & |

UTE-ATE o Taetieh & = I o ST

(i) 3fc Argesa Th SAfw A1 T, AT 39h 99 AT B9 (FF) gHT AT A hl
ITRIEhdT ST 1T |
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36.

37.

SECTION - E

This section consists of 3 case based questions of 4 marks each.

The word ‘circus’ has the same root as ‘circle’. In a closed circular area,
various entertainment acts including human skill and animal training are
presented before the crowd.

A circus tent is cylindrical upto a height of 8 m and conical above it.
The diameter of the base is 28 m and total height of tent is 18.5 m.

Based on the above, answer the following questions :

(1) Find slant height of the conical part. 1
(11) Determine the floor area of the tent. 1
(111) (a) Find area of the cloth used for making tent.

OR
(111) (b) Find total volume of air inside an empty tent. 2

In a survey on holidays, 120 people were asked to state which type of
transport they used on their last holiday. The following pie chart shows
the results of the survey.

Observe the pie chart and answer the following questions :

(1) If one person is selected at random, find the probability that he/she
travelled by bus or ship. 1
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(i) TEH AT TETeId /Il TNaa ol B8 hid BT 8 3T feha ST 3 SHehT IUFT
fepam 2

(i) (a) U IgoDAT Y4 T Sk % & NI T T shl TTH¥haT 4/5 2 A1 A1a HifT
fopam I = ¢ 1 =T TR 7
I
(i) (b) U ATgeRAT A T ATH I TS STETSA o SN B h! TR 7/60 &, ql
TS T g TSI 3T [T i, Afe 3= Ifd =1fh 5,000 o |

38. U g 7o § 39 YRR Heh! TS foh t ThUS o TG 3Eh! SHaTs, I RO foig F
h HieX g TU1 9gY¢ h = 25t — 52 AR HI TS 7 |

SEUE % T hT STecIeh hieh T I o IR I :

(i) fou e wgye o 3 e |

(i) g gRI STH 1 TS SATeRaH gl AT HIRT |

(i) (a) U hehd % foha THA & ITETq g 30 m T Ha1s WERR ?
JAET

(iii) (b) & Tig e HAE 20 m B I t % gl fIf= A= T HIfT |
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(11) Which is most favourite mode of transport and how many people
used it ?

(111) (a) A person is selected at random. If the probability that he did
not use train is 4/5, find the number of people who used train.

OR

(111) (b) The probability that randomly selected person used aeroplane is
7/60. Find the revenue collected by air company at the rate of ¥
5,000 per person.

38. A ball is thrown in the air so that t seconds after it is thrown, its height h
metre above its starting point is given by the polynomial h = 25t — 5t2.

Observe the graph of the polynomial and answer the following questions :
(1) Write zeroes of the given polynomial.
(11) Find the maximum height achieved by ball.

(i11) (a) After throwing upward, how much time did the ball take to
reach to the height of 30 m ?

OR

(111) (b) Find the two different values of t when the height of the ball was
20 m.
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